W09 NOYSOBYMI MMM

Model, HCP il

EmE

AR ERE S, BRTER;
FEE AR ETE, I HEMH:
FRCFFIREE, BRI

TR

Introducti f product

Crank type two slide block synchronous oil cylinder, the length of the slide block;
All the surfaces are hardened and precision grinding, and are lubricated directly;
High clamping precision, dust effect is particularly good;

Adjustable stroke.

AR

B e

S
N @
a n
S
= #im 7l
_ 2-PT1/4 Ciswyhoe
(] o L@
© g \é
[ O] 4-911-917x11D

90
130
1435 ee %é
180 T jépqﬁ 38
1Y 7 -
® e éR#@ © o
200

ﬁ‘mﬁﬁ*‘l} Specification %4z (Unit) :mm

T (¥ ) Pressure area push(cm) 28.27

B H17 12Slider stroke(mm) 30
K Je# FIMax clamping(kgf) 1806

& i EFluld i 2 B # il EFiltered oid
{& FIiR BB Range of temoerature(T) -10~70(C)

{& I fiMax preggure(kg/cm? ) 10-35kg/cm’

» 227

Model MOB #EESHEREL

* F&GB/T15622-2995

SEREATHERNEHE, BETHEMER, BEATER.

SRER A4S, FEFRAETES, SHBEH M,

*2%EFRAFSD, FA, FB, LB, TC, CA, CB, CBP, CAB, #aat
R T RORE

© CE0 45 PR BB AT ET A, WDk A .

Introduction of product

#Standard:GB/T15622-2995
#Use high—quality seal to avoid leakabe and have long service life.

#The rod cover and rear cover make from No45 Steel,and the piston is chromeplate,
With the compact structure,more durable.

#Thera are several mounting typs,SD, FA, FB, LB, TC, CA, CB, CBP, andCAB,
The desiger could chosse it acording to the demand.

@ Anyother special cylinder could order,welcome to contac with us.

zﬁ‘:ﬁ ﬁ*jl' Specification

# JBE &1 (5 7% bore sizes of cylinder(mm) @30 40 @5 63 80 ©100 125

fEM7HE Fluid U 2 5 4 B filtered oil

SLEHE material of cylinder bareel

FIAE carbon steel STKM-13C/E &% stainless rubes SUS 304/AL tubre A6063TDS-T5

{& A 1§ & the range of pressure(MPa) 0.3-7.0MPa(3-70kg/cm2)

the range of temperature(C) -10~+60(T)

the of speed(mm/sec) 8~300(mm/sec)

HHETFERE (PM) length of standard piston 30 30 30 30 35 50 50
ATHIT12 F1501-2500mmME R R ( PV
;ﬂsloﬁlengmwhenmeslmkisbel%e{en1 01-2500mm| 0 60 60 60 70 100 100
HT#14772F2501-4000mmA EEEE (PM
ij ength when the oo eot-s000mm| 120 120 120 120 140 150 150

STWEEE 1 1k Ordering code
* m +

AMERER HOBRER
ACCESSORY ACCESSORY

HDROD

50,100,,150,200

450.500,600,700
800,900,100 cas]on ol Tt

228

W09 NOYSOBYMI MMM




W00 NOYSORYM} MMM

Model

MOB

2417 stroke

$HTR strokg

FATR strg

2042471 stroke

MOD-A@W ﬂﬁﬂ ﬂ‘i MOD-A adjustable double—end rod

RS

ALTEEE

1712 stroke ‘ o 7R strokeadjustable stroke

P —

MOB-MOD TYPE

Model MOB

oei0e
| |

- @ii@

201y

212125 R 510

25 shroke

MOB-FA/FB/TC TYPE

(FAFB)

FY | FR

IR size of flangs
FZ|FX | FT|FD | TL | TT

(TCIBWR T size of trunnion

srmam
cipe gt

4

30 | 16 | 30 [M14x1.5/1/4"| 50 | 34 |M8x1.25| 15|28 | 13 | 15 25 /50|25 |35 15|35 | 10 | 8 128 156 178
40 | 20 | 40 M16x1.5/3/8" 64 | 45 M8x1.25 15 28 | 17 | 20 |30 50 30 40 15 40| 15| 8 147 184 207
50 | 20 | 45 M16x1.5/3/8"| 70 | 50 M10x1.25 18 | 28 | 17 | 20 | 30 |50 | 30 | 40 | 15|45 | 15 8 147 184 207
| 63 | 25 | 55 |M22x1.5/3/8"| 85 | 60 M10x1.25 18 | 40 | 20 | 30 | 31 |50 | 31 | 50 | 20 | 55 | 15 | 13| 162 212 242
| 80 | 32 | 62 M26x1.5 1/2"/106| 74 [M12x1.5/ 20 | 40 | 20 | 32 | 37 |55 |35 |50 | 20 | 62 | 15 | 13| 179 233 263
100 | 40 | 78 |M30x1.5 1/2"|122| 89 M14x1.56 22 45 20| 32 37 |80 37 55|25 78| 15 13| 206 258 293
125 | 50 | 85 | M40x2 | 1/2" | 147|110 | M16x1.5| 25 | 55| 25 | 31 | 40 |90 | 40 | 65| 30 | 85| 15 | 15| 226 282 322
fiiE: 1.MORIIT (&) Kb, Note:1.When the stroke =2000mm,fixture is needed on tie rods.

2.MOR3f . 3
3.M040-502 172 iB1500mm (& ) LLEFS, WBFRLAM18x1.5.

229

When the stroke > 1500mm,see the cylinder specification table for piston length
thread is M18"1.5.

3

and stroke=1500mm.

30 |16|30 M14x1.51/4" 50 | 34 |[M8x1.25/ 15| 28 |13 |15 25|50 |25 /105/80 |56 /34 |11 9 87 |25 16 55|16 78 128
40 20|40 M16x1.53/8" 64 | 45 M8x1.25 15 28 |17 /20 30 50 30 11593 72 50 11|12 /127/25 18 69 29 92 147
50 | 20|45 M16x1.53/8" 70 | 50 M10x1.25 18 | 28 |17 |20 30 |50 | 30 /115/93 |72 /50 | 11|12 /153/28 |20 83 |35 | 92 147
63 | 25|55 M22x1.53/8" 85| 60 M10x1.25 18 | 40 |20 30 31 50 31140117 90 60 14 14 /170 32 25 98 35 106 162
80 | 32|62 M26x1.51/2"106| 74 |[M12x1.5| 20 | 40 |20 | 32| 37 | 55 | 35 180/152/105 75 | 20 | 14 194 35 28 124/ 35 1165 179
100 |40 78 M30x1.51/2"122 89 M14x1.5) 22 | 45 20 32| 37 | 80 37|200/158/125 90|20 16|22 38 30|142 40 129 206
125 |50 |85 M40x2 |1/2"147/110/M16x1.5| 25 | 55 | 25|31 40 90 40 225184153110 20 | 18 255 40 | 32 175 40 136 226
i 1.MORAIiT (&) BLEs, Note:1.When the stroke=2000mmfixture is needed on tie rods.

2 MORFI{TEBIA1500mmEs, FERESMib LR, 2.When the stroke > 1500mm,see the cylinder specification table for piston length
3.MO40-50247 (&) BLERs, W BM18x1.5, 3 and stroke=1500mm rodthread s M18°1.5.

230

W02 NOYSORYM} MMM




W00 NOYSORYM} MMM

Model MOB

Model HOB =EASHEEEL

MOB-CA EH%E& MOB-CA eye mount type

* HAGB/T15622-1995
eRERMEHAT RERNEHE, BETHAHEE, AEASHGR.
CUEERMAGE, EEFREENS, SWBERA.

2-pT

s
T e WIS
il

I
[ —{17T | °0e * ZEPAASD, FA, FB, LB, TC, LA, CA, CB, CBP, CAB, f#
B | ! ! cn B R ORRIE.
P g ] e — ] . o (EFTTRIE § TATH, B
203 slroke Introduction of product
5 —CB clevis type @Standard: GB/T15622-1995
MOB-CB # H. B MOB-CB clevis typ
#Use high—quality seal to avoid leakabe and have long service life
L s . N N #The rod cover and rear cover make from No5 Steel, and the piston is chromeplate, with the compact structure, more durable
b ‘_’a‘)v"‘—’ e ‘ ‘ [ There are several mounting typs, SD, FA, FB, LB, TC, LA, CA, CB, CBP and CAB. The desiger could chosse it acording to the demand
any I ey - o @ Anyother special cylinder could order, welcome to contac with us.
T 6|
1
Jecfiale |-
) . .
L, 4#‘[&%*4 Specification
N |
. e BREL P 7 Bore of cylinder(mm) ©40 ©50 63 80 100 ©125 | ©150 | ©180 | ©200
A Fluid AR 2 B HE 3 Filtered oil
s 1%+ & Material of cylinder bareel BAECarbon steel STKM-13C/M #&Stainless tubes SUS 304
MOB-LB Jjij #% il # ] MOB-LB foot mount type 45 B 8 8 Range of pressure(MPa) 0.3-14MPa(3-140kglom’)
o ange of temperature(C) ~10-+60(C)
- s
PELENGT ‘—Gﬁ‘sﬁ’ e, S ange of speed(mm/sec) 8-300(mm/sec)
‘ “T.'T b @ TS 447 72(Cushion stroke)mm 20 20 25 25 25 30 30 40
] ‘ ===+ O O EAEERE(PM) 30 35 35 54 64 64 70 %0
EEl EJ ] -t R N S ATHI7EF1501 - 2500mmis EERE(PM) 60 70 70 80 100 | 100 | 100 | 140
7 ATH712 F2501 - 4000mmiF EEEME(PM)| 120 140 140 150 180 180 | 180 | 200
T
i) =ty e
| £l
-
J m ' [
E 21468 sroke e > oy .
— IRk Ordering code
- + +
&I‘}BRT‘I‘% Dimension table ﬁ
aRERIR W ERE
MOB-CA/CB/LB TYPE w3t Tv;E amust 'ACGESSORY ACCESSORY
HOB | #ie R SR R i
(CA. CB)EMR T sizeofeye | (LBIF{MER T size of foot = B il FA NS < Y |veam (1]
< S N M CNDCICR CVBMBN BXBWZC ZB LY LX LHILT Foolama] ©: iEm RILELIR YP vie| 31
HoD iz [ Eimil [ETE G
30 |16/30 M14x1.5 )14 50| 34| Mexi25 |15 2813|115 255025 11/20(10(10 16| 12|22 48|17 150/162 53| 35| 60 | 5 |28 1810|156 L
- Tc | mry | <[ Ka e 00|
40 |20[40|M16x1.53/g7 64| 45 | Mex1 25| 1528 17|20] 0] 50| 30| 11|25 12[ 13[22] 14| 2650 23] 183[187] 68 | 45| 77 | 6 [38]22510]186 . A Togz il
| 50,100,150,200 = R
50 |20]45 M16x1 53587 70| 50 Mi0x1.25 18| 28| 17/20| 30|50 30 12| 24| 12| 13| 22| 14| 26 50 23 183/187| 73| 50| 81| 6 |38 21 |12]186 o as030s0400 | CA| #EE | ] T |[mem o0
63 25|55 M22x1.5]3/6" 85| 60 M10x1.25] 18| 40 20|30 31|50 |31/ 15/31]20| 20 30 18|32 61|31 |208[212 88| 60 | 96 | 6 38| 23 12188 2 [ is0s00s0700 | OB | wEm | <] e |
80 |3262]M26x1.5/1/27106 74| Miaxi 5|20 |40 20|32] 37| 55|35 18|50 30|30/ 30| 18] 50 6131 247[247/108| 74113 6 |38 23 |14 ]203 800,900,1000 S ] A mmaR 0ot
100 |40|78|M3ox1 51127122 89 | M1éxt5 | 22| 45 20| 32|37 80| 37| 18|55 35 35|35 18|50/ 76 12789 139] o |48[335 16250 CABOAP+ca <(TH
125 |50/85| Maox 11271471110 i6xt5 | 25 55|25/ 31|40 90 40| 18/55|35 35 35 18/ 55|76 150/110/161) 0 | 51| a2 | 18272
i 1 (&) LB, Note:1.When fixture is needed on tie rods.
2 1500mmEs, 7 5 . 2.When the stroke > 1500mm,see the cylinder specification table for piston length.
3.MO40-502 {7i24iB1500mm (& ) BLEBE, #FFHAM18x1.5, 3.When 40=bore=50(mm) and stroke=1500mm,the piston rod thread is M18*1.5.

231 232

W02 NOYSORYM} MMM




